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g 1. Critical Minimum Thesis was
i a. Morris and Mac Alpin
| c. Leibenstein =
i: 2. Who was the proponent
! Mahatma Gandhi
ii c. Rosentein Rodan : -
l% 3. Which model of development emphas y on the importance of human
capital investment? PR - ,

a. Modemisaﬂon’l'heo:y
c. Big Push :

Inﬁamcmremd C -' ‘ He *“i" nd Education
c. Economy : '

‘TFR’ stands for



10.

11.

12.

13.

14.

15.

16.

17;

18.

19.

20.

FFW stands for
a. Forum for Food and Work= -b. Food for Work
¢. Federation for Work d. None of these

Which organization defines sustainable development as the development that needs
of the present without compromising the ability of future generation for the first
time?

a. World Bank b. WCED

c. ICAR d. None of these
“Indivisibilty of demand” is associated with

a. Big Push Theory b. Human Capital Model
¢. Critical Minimum Theory d. Dependency Theory

“Proportion of tolal population that falls below poverty threshold income or
expenditure” is defined as

a. Poverty Gap b. Absolute Poverty

c¢. Head Count Ratio d. Relative Poverty

“Y” in the equation of determinants of rural development stands for
a. Output b. Capital
c. Finance d. Infrastructure

Who is the Honourable Minister of Rural Development?

a. Narendra Singh Tomar b. Giriraj Singh
c. Javed Prakash d. Kiren Rijiju
In which year LPG model was implemented in India?

a. 1990 b. 1991

¢ 1992 d. 1993

Denial of basic requirements refer to as Absolute Poverty
a. True b. False

Nilokheri Experiment was initiated by S K Dey
a. True b. False

Trusteeship has been conceptualized by Theodore Schultz
a. True b. False

Excessive dependence on nature is one of the features of rural economy
a. True b. False
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[ Answer question no.1 & any four (4) from the rest ]

Illustrate the features of rural economy

a) Define Poverty.
b) Discuss the causes of poverty in rural areas.

“Tagore and Rural Reconstruction-A Synergy and implications for
Modern Professional Social Work Practice”-In this backdrop, discuss the
experiments of Sriniketan.

a)  Discuss the Human Capital Model of Development.
b) How far it is significant in the development of rural communities?

Elucidate the occupational structure of Indian labour force with
slatistical data.

a)  Wrile an account on
(i) Public Distribution Systems
(i) Wage-employment Generating Schemes

lllustrate the favorable and the adverse impact of the determinants of
Rural Development.

Briefly discuss on:

a) Human Development Index
b) Unemployment
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